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7587@DICE:~% ./a.out
1*1= 1%2= 1*3=
2*1= 2%2= 2%3=

4*1= 4 4*2=- 8 4%*3-12
5%¥1= 5 5%*2=10 5%*3=15
6*1= 6 6%*2=12 6%3=18
7*1= 7 7%*2=14 7*3=21
8*1= 8 8*2-16 8*3=24
9%*1= 9 9%*2-18 9*3=27
7587@DICE:~$ |}

2
4
3* )= 3= FFi=
3
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finclude <{iostream>
using namespace std:

int main() {

cout<<”1%1=1"<<endl :

return 0O;
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1*1=1 1*2=2 1*3=3 1*4=4 1*5=5 1*6=6 1*/=7 1*8=8 1*9=9

#include <{iostream>

’=tr=
CE

using namespace std;

. . I 2214@DICE:~$ ./a.out

1nt maln() l 1*1=1 1*2=2 1*3=3 1*4=4 1*5=5 1*6=6 1*7=7 1*8=8 1*9=9
P 2214@DICE:~$ |}

CO
cout

cout:

cout<<{endl:

return 0O;

EEmA - AT RS - TH— MREIE |




= EL ~ A2

1*1=11*2=21*3=31%*4=4 1*5=51*6=6 1*/=7 1*8=8 1*9=9

#include <{iostream> [c_18 1]$ ./"main"
) 1*¥1=1 1*2=2 1*3=3 1*4=4 1*5=5 1*6=6 1*7=7 1*8=8 1*9-=9
using namespace std; [c_1s_11% |}

int main() {

int i;
for(i=1;i<=9;i++){
cout<<“1*”<<i<<“="<<1*i<<“"”;

cout<<endl;
return O; }
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for (i=1;1<=9;i++) {
. std: :cout<<1<<{”

.
J

printf("\n”") ;

- for(i=1:1<=9:1i++) {
' std: :cout<<2<<”

.
I

printf("\n") ;
 for(i=1:;i<=9;i++) {

std: :cout<<3<<”

.
J

printf ("\n") ;




#include <{iostream>

for (i=1:1<=9:i++) { using namespace std;

o

std: :cout<< int main() {

] : —
} int 1, J;

printf ("\n") ; for (j=1, i=1;1¢=9;i+H){

- for(i=1:i<

std: :cout¢

.
I

printf ("\n") ;
- for(i=1;i<=97i++) {
| std: :cout<< '

]
I

e e return 0;
printf ("\n") ; '
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#include <iostream>

using namespace std;

int main() {

int 1, j:
for(j=1,li=1:i<=9:i++) {

}
cout<<endl:

return 0;




#include <{iostream> [c_18_1]$ ./"main"
1%1= 1 1%*2= 2 1*3= 3 1%4= 4 1*5= 5 1*6= ¢ 1*8- 8
#include <iomanip> 2%1= 2 2%2= 4 2%3= 6 2%4= 8 2%5-10 2*%6=12 2*7=14 2*8
3#]= 3 3%2= 6 3%3 3%4-12 3%5-15 3%6=] 21 3%8-24
namespace std; 4%1= 4 4%2= 8 4%3=12 4%4=16 4%*5=20 4%*6=: 28 4*8=32
. 5*]1= 5 5%2=10 5*3 5*%4=20 5*5=25 5%6=30 5 5*%8=40 5
int main() { 6%1= 6 6%2-=12 6*3=18 6*4=24 ¢ D 6*6=3¢ 2 6*8-48
int i,j: 7*1= 7 7*%2=14 7*3=21 7%4=28 7*5=35 7%6-4: 7*8=56
v ds 8%1= 8 8%2-16 8%3-24 8%4-32 8%5-40 8%6 6 8*%8-64
e (=1 - ' 9%1= 9 9%2-18 9%3-27 9%4=36 9*5-45 9% 9%g=72
.f.Jl (j l,fJ C rcas 118
for(i=1;

return 0;
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(#include <iomanip>)

SR BRIEGIE R - iRNEEER R -
FEINBEBRAEIRGE(<=9)  EARNBEB LTS - ELENT  EE2RHEA
FEEhEINELEE




